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Haiti Earthquake 2010 • 220,000 people were killed.
• 300,000 people were injured.
• 100,000 houses were 

destroyed and 200,000 were 
damaged.

• 1.3 million people became 
homeless

• The main port was 
badly damaged.

• Eight hospitals 
collapsed.

• 2 million people were 
left without food and 
water.

• People moved into 
temporary shelters..

• Frequent power 
cuts occurred.

• Crime increased -
looting became a 
problem

By November 
2010 there 
were 
outbreaks of 
cholera.

• Haiti is one of the poorest 
countries in the world. 

• GDP per capita was US$ 1,471 
in 2010, 

• 37% of its population was aged 
15 or under, 

• More than half of all Haitians 
lived on less than $1.25 per 
day, 

• 58 per cent of people lacked 
access to clean water 

• Life expectancy was 61 years

No technology used 
to predict an 
earthquake 

No plans or 
protection in place

• On 12 January 2010, a 7.0 
earthquake struck Haiti. 

• The earthquake occurred on 
a transform plate 
margin between the Caribbean 
and North American plates. 

• The focus was shallow at 13km 
deep 

• The epicenter was just 25.75 
km from the capital, Port-au-
Prince.

• Crucial aid was slow to arrive 
due to the damaged port.

• USA sent rescue teams and 
10,000 troops.

• Bottled water and purification 
tablets were provided.

• 235,000 people were moved 
to less-damaged cities

• The UK government donated 
£20 million.

• Dependent on overseas 
donations and charity 
workers to co-ordinate

• New homes were slowly built
• 1 year on 1 million people still 

living in temporary shelters.
• The port needed rebuilding 

which required a large 
amount of investment.
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• 15,845 killed, 
• 3,375 missing

• 128,479 properties 
totally destroyed

• 78 bridges damaged

• Flooding of urban areas due to Tsunami 
wave travelling 6 miles inland. 

• Fukushima nuclear disaster  - radiation 
affecting local communities and meant they 
couldn’t return home.

• Damages of US$300 billion.

• Tsunami damaged 2,000 
roads, 56 bridges and 26 
rail lines along the east 
coast.

• It will take 30 to 40 years to safely remove 
nuclear waste, fuel rods and more than 
one million tons of radioactive water still 
kept at the site

• Japan GDP per 
capita $44,507.68

• No issues with 
access to water, 
electricity and 
access to 
healthcare

Earthquake cannot be predicted 
but seismic activity can be 
monitored so warnings can be 
given.

• Earthquakes drills so the community 
knows how to react.

• Earthquake proof buildings so they 
did not collapse during the 
earthquake

• Tsunami walls were built along 
coastlines so to protect against large 
waves

• On a convergent plate 
boundary (Pacific Plate going 
underneath the Eurasian 
Plate)

• Shallow earthquake
• Thrust of 10m upwards and 

50m sideways

•Evacuation centers set up
•Repair water and electricity 
supply as quickly as possible 

•Access routes cleared in 2 days 

•Use of planes to survey 
damage 

•Japanese search and rescue 
teams

• Rebuild infrastructure such as road and 
railways so help can arrive 

• A 1500 metre frozen barrier (costing £185 
million) was built around the contaminated 
land from the Fukushima nuclear disaster to 
prevent radioactive  water from seeping into 
groundwater supply

• Strict building regulations
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